PEANE-GEOMETRY TEST

Question 1:

) Copy this diagram onto your answer sheet.
(i)  Write down the size of ZPRQ.

Question 2:

PQRS is a parallelogram. TQ biscts ZPQR and VS bisects £PSR.

@) Copy this diagram onto your answer sheet.

(i)  State why £PQR = £PSR.

(i1)  Prove that APVS and ARTQ are congruent.

(iv)  Hence find the length of TV if PR = 20 cm and TR = § cm.

S

Question 3:

In the trangle PSU, QR//SU, SP//TR, ST=7.5cm, PQ=10cm, PR =12 cm and
UT = 15 cm. Find the length of RU giving reasons.

W
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Question 4:

ABC and ABD are two triangles. X, Y and Z are points such that XY//CB and
YZ?77BD. Prove that XY:YZ = CB:BD. A

Question 5:

A decagon has 10 sides. Consider a regular decagon. Find

(a)  the interior angle sum (b)  The size of each interior angle
(¢)  The exterior angle sum (d)  The size of each exterior angle
Question 6:

Below is a regular hexagon, ABCDEF with centre O. FOCG is a straight line and
ZCGD =30, . :
G

@ Find £FAB
(i)  Find £BOF
(iii)  Prove that ACDG is isosceles.
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